oo Laske desimaalien prosentit

Nimi: Piivimadrd: _ Pisteet: ____
1,07 x 10% = 1, 66 x 80% =
7,29 x 30% = 8, 16 x 80% =
8,06 x 60% = 4,66 x 60% =
9,35 %x30% = 0,45 x 80% =
3,65 x 50% = 2,28 x20% =
4,52 x90% = 0, 11 x 50% =
0,61 x 10% = 0,01 x30% =
6 x 50% = 5,75 x20% =
6, 16 x 90% = 4,76 x 40% =
2,26 x 80% = 7,16 x70% =
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In[EFEy

Laske desimaalien prosentit

Nimi:

1,07 x 10% = 0.107

7,29 x30% = 2.187

8,06 x 60% = 4.836

9,35 x30% = 2.805

3,65 x 50% = 1.825

4,52 x 90% = 4.068

0,61 x 10% = 0.061

6 x50% =3

6, 16 x 90% = 5.544

2,26 x 80% = 1.808

Paivamaara:

1,66 x 80% = 1.328

8,16 x 80% = 6.528

4,66 x 60% = 2.796

0,45 x 80% = 0.36

2,28 x20% = 0.456

0, 11 x 50% = 0.055

0,01 x 30% = 0.003

5,75 x20% = 1.15

4,76 x 40% = 1.904

7,16 x70% = 5.012
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Pisteet:
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